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PART A

Choose the word which is least like the
other words in the group. .

(1)
(2)
(3)
(4)

Parrot
Bat
Sparrow

Pigeon

Read the information given below and
answer the question.

A + B means A is the daughter of B

A — B means A is the husband of B

A x B means A is the brother of B

Then which of the following is true about
P+QxR?

(1) Pisthenieceof R E
(2)
3)

(4)

Pis the daughtcr of R
P is the cousin of R |

P is the daughter-ih-law of R

Lakshmi walks 3 km East and turns
South and walks 4 km. Again she turns
West and walks 6 km, How far is she from

the starting point ?
(1) 7km
6 km
5 km
3 km

(2)
(3)
4

(4)
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6 km
5 km
3 km

(3)
(4)



VSAHA

4.

; diagrams.

@ _ El\—j

Here are few different types of Ve.nn
Which of the following
diagrams correctly represents the given
statement ?

Statement :
There are teachers, graduates and playerg
in a family and all these are partly relate

to each other.

(1)

(2)

(3)

4)

FHoe

the given
lect the correct answer from :
. ions, which would continue the series.
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6. If the number 636xy is divisible by 90,[6. 635xy e o2 90 3 g AoY 2¢Oy
then the possible value of (x + y) = GDEe (x +y) B0, Dews
L 2 W 2
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(3 4 3 4
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8. A andB can do a piece of work in 30 days, 33 ¥ 20 Bwod® Jry Savro. A,
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take to finish the work ? Eeren é‘m?:d;é) ?
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11.

12,

13.
* . North Korea met at this village in North

(4 Sinuiju

(2) AX. Sikri

(

The present Executive Chairman of the
National Legal Services Authority is

(1) Ranganath Mishra

(3) S.A. Bobde

(4) A.S. Anand

The first Lokpal of India was "
(1) P.K. Mohanty

(2) LP. Gaut@

(3) DX Jain

(4) P.C.Ghose

The Presidents of United States and
Korea in June 2019.
(1) Hamhung
(2) Panmunjom

(3) ' Pyongyang
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15.

16.

144 ‘Intelligence can spell the end of the

;4, Mike Pompeo, who visited 'India in last

(1) Sundar Pichai

week of June 2019 is the

(1) Secretary of State, United States

(2)  Prime Minister of Japan

(3) President of Indonesia

(4) President of China

Recently, AADHAR Service Centre was
opened in this city in Andhra Pradesh for
the first time under the management of

UIDAL
(1) Tirupati
(2) Guntur
(3) Vijayawada

(4) Nellore

“The development of full Artificial
human race.” This is the opinion of

(2) Satya Nadella
(3) Stephen Hawking

(9)

16.

(4) Bill Gates
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17. An example of vector quantity is

18.

19.

(@)

- (1) Time

(2)
(3)
(4)

Energy
Speed

Acceleration

Identify the mcorrect statement(s) from
the following

A.  Solar power systems do not require

much maintenance.
’

B. Solar energy is not likely to run out
in the near future.

C. The installation of solar systems is
expensive.

- D ~ Solar power systems reqmre much

maintenance.

(1) OnlyD

(2) OnlyAandB

(3) OnlyA,BandC

(4) A,B,CandD

In plants, downy mildew disease is caused
by

(1)
(2)

Virus
Fungus
Protozoans

(4) Bacteria '

(10)
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99, WHO, in its catalogue of diseases and

21,

" Andhra Mahila Sabha was established by

injuries, recognised ‘burn out’ medical
condition as the result of

(1)
(@)
(3)
(4)

Chronic workplace stress
Indigestion state
Long-time use of gadgets

Lack of exercise

The Congress Party appointed a
three-member committee to consider the
recommendations of Dhar Commission.
The names of the members of the

Committee are

(1) Jawaharlal Nehru, Vallabhbhai

Patel and Pattabhi Sitaramayya

Bal Gangadhar Tilak, Gopal Krishna
Gokhale and Lala Lajpat Rai

(2)

VV. Giri, N. Sanjiva Reddy and
P.V. Narasimha Rao

Durgabai Deshmukh, N.G. Ranga
and Dronamraju Satyanarayana

(3)

(4)

Kittur Chennamma
Aruna Asaf Ali
Durgabai Deshmukh

(6Y)
(2
(3)

(1)
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23. Match the following correctly with respect
to books and authors :
Authors ' Books

24,

A. GurajadaAppa 1. Sahasra

Rao Phan

B. Chilakamarti ii. Chivaraku
Lakshmi Migiledi
Narasimham

C. Buchibabu iii. Hemalatha

D. P.V.Narasimha iv. Mutyala
Rao : Saralu

(1) A4 B-ii  C-il Deiv
(2) A-dv B-ii  C-di DA
(3) A B4 C-iv  D-iii

(4) A-4ii B-ii G4 D-iv .

Pattiseema is located on the banks of

(1) Tungabhadra River

(2) Penna River

(3) Krishna River

(4) Godavari River -

(12)
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(13)

g5 Consider the following statements :

A' ]

B.

C.

The rule of Delhi Sultanate was

founded in 1206 C.E. by
Qutubuddin-Aibak.

Ibrahim Lodi was the first sultan of
Lodi dynasty.

The age of Imperial Mughals was
1526 - 1707 C.E.

Identify the correct statement(s) from the
above.

(1)
(2)
(3)
4)

Both A and C
Only B
Both Aand B

Both B and C

The following two Acts were enacted for

bringing more transparency in Judicial
appointments in India :

(1)

@)

The ggth Constitutional
(Amendment) Act, 2014 and The
National Judicial Appointments
Commission Act, 2014

The ogth Constitutional
(Amendment) Act, 2015 and The
National Judicial Appointments

. Commission Act, 2015

- ®

i @

The 100t Constitutional
(Amendment) Act, 2016 and The
National Judicial Appointments
Commission Act, 2016

The geth Constitutional
(Amendment) Act, ‘2013 and The
National Judicial Appointments
Commission Act, 2013

A.

C.

@&l
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27. The 85™ Constitutional
Act,

RER ¢ b
(2)
3)

(4)

(1)
(2)
3)

(4)

‘The President of India,

(14)
27. 85 3 CoERsol B3Ge B80, 2001

(Amendment)

2001 was meant

For the promotions of government
servants belonging to the Scheduled
Castes and Scheduled Tribes

For the promotions of government
servants belonging to the Backward
Classes

For the development of government
servants belonging to the poor
families

To provide facilities to government
servants belonging to the physically
differently abled persons

Indian Parliament comprises

The President of India, The Pri;ne
Minister and the Vice-President

The President of India and the

members of Lok Sabha and Rajya
Sabha

The Speaker of Lok Sabha and
Deputy Chairman of Rajya Sabha

Speakaelof Lok 'Sabha and the

28.
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29, Identify the right answer from the
following statements :

(1) Eleventh Schedule of the Indian
‘Constitution empowers the Union
Government to interfere in urban
local bodies affairs.

(2) Eleventh Schedule of the indian

Constitution comprises 18 subjects.

.(3) Eleventh Schedule of the Indian

Constitution deals with urban local
bodies.

(4) Eleventh Schedule of the. Indian

Constitution comprises 29 subjects.

. 30. The Balwant Rai Mehta Committee was
' constituted in

b o
w @
L ®
@)

1955

1956

e 1957
£

e

(9

1958

. 3 31 John Locke gave birth to the concept of
i human rights. He was a ' '

* “ (1) British politica\.l thinker
{ @
Fh @)

o (g)

American political thinker
German political thinker

Frt_e'nch poiitical thinker .

(15)

A
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32 The Indian Union Parlia
ment approved
The Protection of Human Rights Act in

1) 1090
@ 1991
3 1993
@ 1992

33. “Social justice implies equal access u]

liberties, rights and opportunities as well

(4) Joan Rebinson

34. “Society is & web of social relationships.”
This was stated by

(1) Maclver

(2) Max Muller
(3) Emest Barker
(4)  John Locke

(16)
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This is also known as the Great Indisn
Desert.

(1) Polar Desert

(2) Tropical Desert
(3) Temperate Desert

(17)
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38, mn..:.,,, A T qumwm 1. The Janani Suraksha Yojana Scheme and |41, 5 ooy dlress o Sobctn bes
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3 Seachtr M 305 gy ' i
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ternational Developa - ! \
Assisted Integrated Chidd Mbpn':‘:“ Sreced qal.l'ﬁoﬁ as 5°’°, 46. Choose the part labelled as A, B, C, D that |48, Choose the correct sequence labelled as P.
ices (ICDS) systems strengthening S (1CDS o has an error. Q. R, S to produce the carrect seatence.
st sy o ey el s ‘ finished his dinmer / of the / the Amazon is /
implemented in Andhra Pradesh in DRV S o PO When Joy had / mm s
(1) 10 districts g oleHpid, dqo Sowy (A m
(2) 7 districts M 0egos he sit down / to watch a film, h:wlmin;"'”
3 11 districts @ 7dqot’ © ) )
(@) 4 districts 47 1ol
) 42gos (1) RSQP
g A
44. Better (financial management of the | 1 (2) QSPR
Health Departments can be achieved by| ¥ 520 / 2 ewstosdo owr (20 B A1) QPES
i : oTgred 23 ogs, /Docm @ c @ Qrsk
A Asset Management Mﬁh: o
Inventory A e (@
B, & and Supply ) ::”%mw '& 01 49, Harry is fond classical music.
G of  Employ ' Fill in the blank with suitable preposition.
Facilities C. wiwm;wmx“o . oo
Choose the correct answer, ASngrc dassed. w
(1) OnlyA :fbam ‘47. Aniket is not as shy as his brother. (2) on
(2) OnlyAand B (2 ADSals Bingd " Choose the comparative degres for the @) for
(3) OnlyBandC (3) BoOan C3rgd above sentence. X9 of
BandC S8ats 5
W s Bl 2 (1) Aniket is shyer than his beother. % " :
45, Redevelopment. activiy can bo clasified[ 8. 82505045 citrfould gor R B - 05521 Choose the suitable passive voice form of
an Spedossy the abave sentence.
(1) Slum Resettlement Project w Q&N&WJM (3) His brother is less shy than Aniket (1) A song is being sung by my friend.
(2)  Transfer Development Project @ "5.)355365!&6@'!3 (2) A song is sung by my {riend.
@ Groeafield Development W8 ASSE asetnos () Aniket and his brother are shy. B, A o e gty ey e
. " (4) A song is sang by my friend.
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PART R

The study of blood vessels is callod
(1) Osteology

(@) Myolegy

(3)  Splanchnology

) Angiology

An examplo of a long bone iy
(1) Femur

(2)  Seapula

(3} Vertebea

4) Frontal

Insulin is produced by
1) Kidney

(2) Spleen

(3) Pancreas

€)  Pituitary gland
The test used for estimation of glocose in
wrine is

(1) lodine Test
(2)  Benedict's Test
(3) Rothera's Test
(4) Tuberculin Test

Wet Blood Examination is
of used for

(1) Tuberculosis
(2) Trypanasomissis
@) Mastitia |

(22)

@ empmpS 36
85 3o of  (ogsw) 3% asdrnod o
200 700 Ky
1) nebogns
@) I atrns
M ety =

(@) Tetanus
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VSAHA

In sheep and goats, bleod sample is
collected from

(1) Jugular vein
(2) Jugular artery
(3) Femoral vein
(4) Femoral artery

l& The hormene released from the ovary is
(1) Insulin
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60, mﬁdww.mhuw
one kg live weight will be around
1 kg
2) 38kg
3 Skg
9 2%g

61. The lighting pericd recommended per day
for layers is

(1) 24 bours
(2) 16 bours
@) 12 hours

(4) 8hours

The reason for laying thin shelled eggs in
poultry is

(1) Low calcium in rations

(2) High calcium in rations

(3) Low atmospheric temperature
(4) High vitamin D in rations

The highest milk producing cattle breed in
the world i

(1) Jersey

(2) Holstein-Friesian
(3) Brown Swiss
{4)  Red Dane

(24)

6. @Sodod! I Jed  asplam
eHerd

-

60. Eraxed & ey 28 donicdl Soo Lo
Dotaod !
m 43w L
@ 353w ’r’

¥ ’
4 288 f‘
g5,

61 yO OF Q0 Fern 200 Daxioth
bt o4

M 24 fiobes
@ 16 Mot
3 12r0bm
W) 8robew

62. £ Sl g0y Deytethy s

M) oers’ =habo 3y Sm dodto
C @ oed ehome Ju ST dodio ,
@) Todta  aReso  omIm |

|
Wroowd duxs & dmam
7 aotwso "

m a4
A TS Ehans |
@ @50

(4) d& &5

@A ysama

o

Which of the following is the best method|
of hand milking ?

(1) Knuckling
{2) Stripping
Wet milking

(4) Full hand milking

The optimum age ot fint calving in
crosabred cows is

(1) 24-28 menths

12%)
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5. 33050 2D wPed’ Toore) GO ORI
Satan

9 u-2:3c

(2) 22-3530m

@) 38-40 o

(4) 42-453c
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~': Which o 126) m
Perennial fogq. 7% is & high yielding |69, 233 0 grio 4 ot g
(1) Guinea Grase S T
() ‘Luscerne @ >ong
%) Hybrid Napier 3 b
Idans
. Minimum fat percent of double toned milk Shes
|70, Send &' Deod' 1Y w00
N 189 0 15%
2) 20% @ 25%
3 3o0% 3 30%
“) ss% @ 45%
7. Themujor Y o [T R0t Sopes ok pesn
(1) Bprieg sessen (1) 3806 soxn
(2) Summer season @ 330 voxs
(3) Raiay sesssa il S
(4)  Winter season @ doroxn
72 Fga Doty Lvos' o) Secd
i xm‘:,"""‘""h""""‘“ zwmﬁf <
(1) 30 days M 308ew
(2) 60 days 2) 608w
(3) 90days B w0bea
(4) 150 days ® 1505w
73, Thbe time and temperature used in HTST| 7 HTST 2028556° o5 ades
pasteurization iy (::odﬂ&)m:,:oooa-o
(1) 63°C for 15 seconds (1) 63C 15 hsoen
@) 72°C for 15 seconds 2 mesve
()7 92°C for 30 secunds @ 92°C30 hwe
@ 100°C for 15 seconds ) 100°C 15 Boey

|

for every one liter of cow milk over and
‘above the maintenance ?

(1) O4kg
2) 10kg
(@ 18kg
4) 20kg

- Which of the following is an example of
amall size dog breed ?

1) Boxer
(2)

Bulldog
Pug
Dalmatian

@

74" Which of the following vitamin is rich in|74. iy ol 2 3 dod D

(1) duXSEe
A2 2625 D
3) SRS K
4) DuXSA

75, N Dend Lol Grove DoEonss S0
02 extiroly
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78.

81,

Which of
.hmfollwh'dqwh

Weho(uuhl is
o lowing is the National

(1) Tiger

(2) Lion

(3) Elephant
(4) Cheetah

128)

%m0
n ofcf
"l oob
3) &S
W) @E>ob

79. o0 Bay =bah oty
m o

2) Horov

3 Sso

@ O

The normal body temperature of a goat is [gg, Jed' Foroe b6 a0

(1) 102F
@) 96'F g; :::'
(3) 107°F
(4) 89F &y
(4) 99°F
Sudden death in sbheep’is a common
couch 81 eqsmﬂ}@oe‘ba,om
(1) Anthrax 20 sty
pi @) B0
(3) Foot and Mouth disease & moots g
(4) Brocellosis @) ngnG
Wooden Toague in Bullocks is caused by |82 008" S8 Tet.ofns o oyd
(1)  Actinomycosis () PSPSNG
(@ Actinobacillosis L ATongnn
(3) Brocellsis 3 erdgnh
(4)  Anthrax @ o368

(&) | ysamaA
T8 08 T D8 AN esmroly

|

(29) @2
g3 The antidote used t0 treat butex poiscaing |83, Z%ed' oerfy Do Do 8
Soodss

" indogs is
M

(1) Metaclopramide m M¢¥5 A

@) o30S

(2) Apomorphine
(@) H0aaS

(3) Cimetidine
(4) Atropine
A @ oTDS
ok .mdmmmwu_ o s D T S0
1) egTdS
@ DodeD
@ s
) EeNaS
05 Woed' SN soge  Kotd
ooan
() &,
@ pes
@) TS
W | Shaxrrder
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1y 270 Bere
2 3500 B'even i '

AST 180 B'ered
@ 1M48ew

87, D5 B Swew ool domotns 8 &3
a -196°C 4
@ -200C

M -10re

4) ~-&70°C

o

M



VSAHA
88, 1n cow 130) &
.,
& -bwuounuub, 88, ,qbp-mncm»
(2) ) 0D
@) A TPanosnaini @ D330
) Anaplasmosis B
o (4) eBTPEND
89. Downer >
which of the faienien s CoPiestion ollgg, 235 €S Boise D oy
1) Pyometra Boolods0
2)  Endometritis (1) Sl
3)  Milk fover 2) J0E81un
() Vibriosis Gr g, S5
@ IPDND
90, Thawing temperature of semen straw is
(1) arc 90. Do ey Soorsty 3 oronell Ay ;‘
(2) 20°C arc ,
(3) 10°C @ 20°C
(4) 48°C @ 10e
% ?k b i i (4) 48°C
S " Sempd ed 0h e ero s
(2) FSH Y
@ 55308,
(3) Pepsin P
(4)  Adrenaline il el
92. The membrane surrounding the heart is
P 92. mm;qmb&o‘m
@) Fiean ;m
3) Meninges R
) Peritoneum @ Jdou
@) ded'aano

A I T ==rs

’ ey}
VSAHA (31)
g3, Crude fiber digestion in horses takes place[93. FoSw0 @083 ssasing’ @7
"~ lnthe 305 &g Bopad
5 '}
! (1) Caecum ) b
z {2) Duodenum @ o@rdio
(9 D 3 =wo
(4) Stomach }y %3,5
% The disease tranamitted through anails is |94, S8e 050 TyhoD TP
(1) Babesiosis A RIS
(2) Trypanosomiasis 2 Mm
(3) Theilericsis @ gLoarhs
(4) Fasciolinsis @ SHArbairhh
&*'liigmﬁnumdnuumu o5, THAQAS Ty moE g
(1} (o S'ET
IR Bt n e
) Virw 3 0
%) Penges @ Soih
L. al* 8écd 3500 DDAFRD EY DasS
3."7.'?".'?‘2?' method is used for Bepnes
(1) Crude fier W ¢grs
2) Crode protein @ @& S
(%) Ether extract @) @b dsyerf
4) Ash ey ol
0 The dental pad 1s procest in 97, Botd FE A6 actod
(1) Horse (1) rogs ’
2 Pig So8
(%) Cattle @ ey
@ Dg @ 0,




VSAHA 132) @
6. The brooding tempersture required[s8. Bnc Toos' £ Dged Erdof
during the first woek is mwm
-y 1) 60-65F
@ 70-75'F @ 70-75F
(3) 80-85°F 491 80-85°F
4) 90-95F ) 90-95°F
9. D Scoonnd' £ bood! Sumyedo
99, Debeaking in chicks is done at the age of 0030
(1) 1 moath pivg l-ao
5y e (2) 230w
s .(3) 20 G'ered
(4) 10 days J
@ 108w
100. The b pansible for
ol plagaaRcy o coms e 100. espos’ :g:»m ot
(1) Estrogen a3 P
(2) Progestorone A ﬁ@as
(3) Oxytocin 2 M.S
(4) Prolactin @ edus'™hS
; @ >o3S
101. Which of the following is a small size
conttle bided ? 101 O3 26570 o e =0 D8
By ) 8@
() Hallikar
@
(3 Malv R
4) Pungasur @ 3’%
Dorirts
102. The buffalo breed knows for
productica is bigh milk|102. Jx3 2O A2 0
(1) Jafarabadi ) eord
(2) | Nagperi @ >Rps
(3 Sarti @) g

@) Murrah

B e

~fmummm&mm~ 106, oot S 308 Songs D8

|ummwﬁ°¢°€m
seo

|

1 15-30 e
(2) 45-60C'ew
/m‘ 90 - 105 E'eren :
4) 120-125 8w

W ofh%

(2) Srolfyijo % v
A 3% :
W sed %




: 134)
VSAHA @®

Iﬂ.mﬂwcmmﬂhmlfw-mlﬂ-wﬁ ol wwe&m i
under covered area in loose housing HOGEr Jod dosd ¢ 112 Which forage 13%)
system is development "mz:: suitable for the|qyg. =
(1) 15sqm (1) 15632, area ? 180d in dry ang 3::9 Scod 307 oasy sbaat
(1) Hybrid N TIS STl Mo
(2) 35sqm @) 368, apier
o @ Moz I 008 3%ah
(3 55sqm 48 5563, @ WwHE
(3)  Stylo Hamata a2
) 75sqm @ 7635, (@) Borseem ™ z*:'c?w
3 (L)) e
108 The hormone responsible for letdawn of| 108, & SHHpos' o e 113. In & sheop farm, the numk b .
milk in dairy animals is & ST HG3 nmnmub!dlu;lmmm“ %l 113, Fge 36 & Baf Tom 50 100 w2
(1) Adrenaline AN ed>dS W 2 Fpn 3 Fpdrem =0
(2) Progest (20 S>8y5°S @ 4 g\ :
(3) Thyroxine @ PohyS . @ 8 @
(4) Oxytocin (4) ee™hS { 4) 10 “ 10
100. oo > 4 SOFEHD  So¥benDd 114. The TDN percent in & ceacentrate uc.m.,am:nmwm
109. What is the optimum service period in a . mixtu uired for hi das (TON) J00
cross-bred cow for profitable dairying ? Faswpos 360 boakd o0 m’,‘.:‘ igh yielding dairy m:gom dpauo 2oy 2oge
) 1month G l ) s o &
(2) 3 months 1) 132 - (2 o0% @ 60
(3) 6months @) 3dow : l (3 0% @ ;:
(4) 9 months 6 3o (4) B0% z
-~ 9o 116, Which of the following fodder e 1185 5 S0 Dyt RIS deed
110. Gossypol toxin is present in which of the @ contains mimosine T () hBdar
following cakes ? uo.bas,,b‘n'bﬁ'éuiaaww \ (1) Sesboria @ o
(1) Groundnut cake () S o, ' (2) Acacia (@) foudhdarr
(2) Soyabean cake (2) SarDS DYy (3) Gliricidia W wewd
(4) Subabul s
(3) Sunfower cake _AB) SO 3%, B oo ive behaviour of male 116 Heoh Teb S DO
(4) Cottonseed cake @) 83, - ot ,a.:“u Guring repreductive ssge i T D30 b
ul.vmehdunmn..mmnl.a{.oa:ﬁb‘bombgwb‘a "‘“"‘ ’ m waes
ment animal? eodad) [[() Infanticide @ =5
(1) Sheep ) R ; w Musth e oot
2) Goat 2 S : 3) Grunting PRl
(3) Rabbit 43 @olw Roaring 3
(4) Buffalo w #Aa ’
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VSAHA (361
i SO
117, Pullorum disenso in heos is caused by nw. ;‘Q&‘ﬂw iz
(1) Bacterin m
(2 Vieus A
@ Pungus @ SoN%
(@) Protezoa « Sw'sT ‘
118, Gumbors disease in birds is caused by n&i‘@mwwm
(1) Bacteria of chear
(2) Virus @ N
3} Fungus @ Sonb
() Protozea W SSET
118. Lateral kink of neck in cows is l'.u:pé'::dw&ﬁoﬁm
sl Tydaios) Sr¥ie
(1) Kelosls R ) anl
(2 Milk fever @ 90'90
(3) Simple indigestion )Vmeég
(4) Fatty liver “ mrama
120. In calves, ringworm is caused by lnwmwmm%b
(1) Bacteria m o‘w
2) Virus @ Ed’
(3) Fungus E/m
(4) Protozoa @ &d":‘
"121. A commenly used antipyretic in cows s |19}, esped®
(1) Sodium Bicarbonate & WMWJ;J TEaess
(2) Sodium Salicylate 23 5 )
(3) Magnesium Oxide
@ v Jar Didaovo eph
Todide @) Deordoo edrzs

VEAHA
123, Difficulty in reapiration is called

(4 4]
2

Oligopnoea

_(OW

15. Length of gestation period in ewes in
(1) 270 doys
@ 310days
(3) 180 dayw
(4) 150 days

s

(1)  Enterotoxaemia
(2)  Blue Tongue
(3) Sheep Pox

(4) Rabies

The disense transmitted through dog bite

(I
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134, wpod' €' T TR fio SOND
() 260
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) Sonn
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) 270 6=

2 3108w

(@ 180 B'eren

@) 150 B'ero
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VSAaMA 1381
127, Which of the following is used a3 ruminal|127, ©59od" e oD 8ol S0
antacid in cattle ? M onx
() Vinegar @ "
(2) Sodium Bicarbonate ) et :28
(3} Potassium Chloride y
(4)  Sodium Chloride M &
1umammunm“‘°‘°“’°‘uw°=$‘
antidnflammatory agent 7 Of0
(1) Atropine 1) S
(2)  Moloxicam @ Doisd
3) Alum A 3o
(4) Ranitidine @ oouAS
128, The  disease  transmitted through
reear . 129, Rof’ Emen oo ghoto Tyl
(1) Enterctoxemia 1) dENd
(2)  Bive Tongue @ S0 e
(3)  Foot and Mouth disease /(’ mOmoey 70
(4) Rabies “w Beh
130. What is the medicine used for the removal | 130. €908 S0 36 8 Soo
of retained placents in cows 7 m ged
() Tyt }m/ 08
@ Afanil
(3) Replanta @ Bour
@) Nebaloa 9, 2mod
131. The estrus cycle period in cows ks 131 oped’ end I Jod
(1) 15days m 158w
(2) 36 days @, 3o
(3 21days ,e(; 21 e
(f) 25 days 4 258ve

3]

td

VSAHA 139
¢ bli
g e err i e L
m A 5
2 D
(3) B<omplex
“ C

133. Equipment used to detect adulteration of |
" milk with wateris *

m
]

32 G dof DenuSEoddc g SLuS
ot

AV A

@ D
(3) Becomplex
4 C

133 o8t =) Scveds DAD WG
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A oghoes
@ DS, owb

() ptoes
W) oEhHeb
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VSANA "
.mwwdwmmlnwhmww&dw
- ._,,.u.a--b-du""i"""‘""“' D8 200 exa508E T80 D08 GocD
is
(1 5% i
@ o8 2) 50%
St 3 7%
@ 100% (4) 100%
produces Mohair 7 '
Jar sof'e
(1) Angoea oS
(2) Alpine o
s A (3) eof-DHidanS
(4) Saanen W
139, The tallest mutton breed of sheep Is Gt o a7
(1) Mandya &
4 @ 50
s Pes (3) romo
) Nellore A et
Tollowing SN doenod ¢
(1) Protein (1) Srongdge
@ Fat
(3) Lactose 4 %
(4) Minerals " cf.'o
W) 3o,
141. The act of parturition in pign is called
i 141, S008" e DI Dasdes |
& i 1) =2k l i
SR (%) Parrowing ”
"’._~ @ Kidding 3 Sowok

W 2ok
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147, Which of the following fodder contains
more crude protein ? »

(1)
(2)
(3)
(4)

Maize
Cowpea
Hybrid Napier

Para Grass

I

(42) , @
147, s (30D E5wBDS d I 908" gy

AT HEY

(2) eopod
3) TOE Soawd

4) FOHG

148. What is the percentage of moisture|q4g 30@33565 (25") & dodTdo B
present in hay ?

149.

150.

(1)
(2)
(3)
@

Dressing percent of carcass.in rams is

(1)
(2)
(3)
(4)

An abnormal cavity containing pus is

12%
20%
26%
30%

30 - 35%
50 — 52%
60 - 62%
65 — T0%

called

(1
(2)

@)

(4)

Abscess
Hematoma
Cyst
Tumor

&otaood

149. "8 r&Jend’ S7oFeHd T
(1) 30-35%

(2). 50-52%
(3) 60-62%

/(4')/65 - 70%




